— EXER

SJQU-QR-JW-011 (A1)

REHFHEITRIR

RIZBHR 5 AR
RERE 2055064 REFS 3714 b LAY ot 3/48
RRED Sh HINTS 15008 FIFER IR
ERBER M T. B22-5 PERAE 41 EiRH=E THEHL 215
ZEr 12 (7231) .« =58 (kb
B2 E/BFEMuY | https://moocl. chaoxing. com/mooc—ans/course/244846223. html
% R E H %
ML EEAR AR KRR A - BELE - IERMBARF LR - 20109 Hik - SRRTS
BEAMS BHEREA - KEE - BF LTI EHRMR - 2016 £ 7 AR
. IRERFHERA
R | AT BEAS HERAN Bl
1 2 W% TLIESERE, TCP/TP VMl AR RIMEIR PR 1.1
2 2 IP Mkt MR K Z52] . TPv6 £R PR, TR | BB A
3 2 IR SIA PR 2.1, 2.2
4 2 FTAR R SR L 2% HLIRG A A% T it S SEEHR
; 2 | ZCHHL/VLAN/ =SS BB A T B /o R A LB =2 iz -
AEHALSEIANE VLAN J8] 38 15
6 2 VLAN S5 X, SR
7 2 A R B STP S RSTP UiEsd 2.6, 2.8
8 2 STP J% RSTP 5256 KIS SKIGAR
9 2 FOAS Gl R NI M PH% 3.1, 3.2
10 2 H 148 /RIP YL %k 3.1, 3.2




SJQU-QR-JW-011 (A1)

11 2 RIP S5 G TR
12 2 FAX 3 OSPF. £ [X 3% OSPF frIMCHE PH# 3.5
13 2 OSPF L2156 G TR
14 2 I 2 ik B e ——NAT ALY 3.10
15 2 Py ) #5512 ACL keI Bl
16 2 NAT FiJ5 ] 4 1 512 ACL FIRCE. S SR
e 2 W2 22 AL 2 SRR . B KR ER . SS L N -
24
18 2 B3 K 4 S SE IR
19 2 T WIFT R, 3 B % LA
20 2 W £8 LRI TT R Bt PH%
21 2 S E S SEEHR
22 2 W (FRFIRERZ) « MERL 53t Fi TFEEIK
23 2 W28 ;LRI 5 i ANEFHRIT AR
24 2 W28 ;LRI 5 i ANEFHRIT AR
= EZAR
BIEAIRR =174 ERAR

X1 30% NI A

X2 25% ST S S IR R

X3 25% WENI (BRI

X4 20% e

ERZUT: B (F#®) HREEH% IS (#%%) HHA: 2024.8. 31



